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3-(28+1)+5=0

(5+73)+7x7=348

(6+72) +1=56

(6-1+7)=12

(7+8-42) x2+1=-]

(3+3x6+32-3)=27

(3x6)-5=13

(22-9-8)+3x3=-9

(6 +62) x 3= 126

(73 x 4) + 7 = 1379

Name:

Score /20

2. (63-9-1)=206

4, (2-7)-8-3=-16

6. 43 - (2+28) x5=14

8. (32-32)+5=5

10. 6-(8+3%) -4=-33

12. (7+28) x 9 =135

14, 6x(2+1)+1=12

16. 23+ (7+7+8)=64

18. (3+1)x8x4=128

20. 62-3x(32x2)+5=-13

Order of Operations: 1st — parentheses — 2nd — simplify exponents - 3rd —

mulfiplication and division 4th— addition & subfraction (left to right)




Worksheet #7 Answers

1.

1.

13.

15.

17.

19.

3-(28+1)+5=0

(5+73) +7 x 7 =348

(6+72) +1=56

(6-1+7)=12

(7+8-42) x2+1=-]

Name:

2. (63-9-1)=206

4, (2-7)-8-3=-16

6. 43— (2+23) x5=14

8. (32-32)+5=5

10. 6-(8+3%—-4=-33

(3+3x6+32-3)=27 12. (7+28) x9 =135

(3x6)-5=13

14, 6x(2+1)+1=12

(22-9-8)+3%x3=-9 16. 22+ (7+7+8)=64

(6 +62) x3=126

(73 x 4) + 7 = 1379
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18. (3+1)x8x4=128

20. 62-3x(32x2)+5=-13

Order of Operations: 1st — parentheses — 2nd — simplify exponents - 3rd —
mulfiplication and division 4th— addition & subfraction (left to right)




